FTEAXRPEENANVEIR—YKE

EB BERS | FHX 5 iR ER AYDiE Bz k3 TR
24|28 WA A FOE PIL 1 13.81 | B HET
24|283 HE B2 f=IE5 o 1 15.39 |{&£{ATH
4{ 138 BA EE LE2E FEOR 1 10.36 |{&£{ATH
2518 B R STLHH (FAL DNS 3=
29|2ER8 Bl 1583 Ll UAHE 2 14.36 |FE™
29|23 RiE MR =2 hFuA 1 744 | K9
10{1%p [RE B* X512 hDOUVA 2 30.94 |BlIFFTH
10[1%&8 F& ME b HFOS 1 21.10 |{&iaTH
10[1%8 B = {HHD Y&S 3 37.64 |BIRFTH
10[1%B FAR B Tode fzhél 4 41.59 |BIRFH
10(2%B il BhPE LALL 1 20.71 |BIRFTH
10| 280 Bh AfT Iz SEpE 2 30.90 | Al FFH
10(2%B Rk TGN LIFE DNS bl
16(1%&8 N W DALH Eb 1 21.92 | K4
16[1%&8 sl HEF EvFE 1T 2 2517 |BIRFH
16(188 iR RF PER LLOY 1 23.76 |BIRFTH
16[1&8 thot ZEsh PFELE HEUVAS 2 27.78 |BAfATH
16[1%8 B FE »FES VL 3 74.45 | BIRFTH
16(28 & BED AML ELDS 2 21.98 | Bl FFr
16(2%#8 ME EST W FEpE 3 22.50 | BIAFH
16(2%B B REB =his 2EFE 4 30.44 | BIRFTH
16|28 Tk = BYEPL 2£3505 1 20.23 |BIAFTH
28| BE mE R HEHAL LT H 2 9.80 ({&£{ATH
28|F TR FE EH BLE 1 9.58 |[{&{ATH
28|F Bl EREF HEPFE KR 4 10.86 |tk{ATH
28| FE i B FhR YT 6 10.97 |{&faTH
28|&F Fa& #pE L HpE 5 10.92 |{&{ATH
28|F IR BRF ZHIES FYS DNS MHETH
28|F EH = I=2¢ I p At 3 10.69 |tk {aTH

50m 28|05 gk WIEF meES BYc 2 1117 |BfHH
28| &5 %A 250 1OE 3 12,05 |[FA7ATH
28|04 =2l Fx HPHH VTH 1 9.93 (B AT
28[4t 4 tmER DYF Wi oy 1 14.42 |{&£{B™H
28| AR M Mh0 LL3LwA 7 9.22 (BT
28| miE =2— neES kLD 3 7.67 | B HET
28|0E |tk MK &S5 LLSt= 2 714 | £
28|04 AR EA TIE Y7 1 7.08 | Ko
28| 4E T O EZN VM LoADTI 8 10.13 | Bl FF T
28| REB X V525 b 5 8.16 |{&{ATH
28| ZEH #3 HZD Y&S& 6 921 %
28| 4 i LIE B3& 4 8.14 (MM
28| FFE EH = VEf= Y5 4 12.90 |{&{ATH
28| FE Rk EEH WeRp 20T 3 9.27 |B HiET
28|F4F MR RE ZEh UTE 1 8.00 |{k{aTH
28| FE o EE PFECE DDA DNS kBt
28| FE RE FF =2F L3~y 2 8.72 |{&fATH
28|27 |/\k BRZ CIEPL apE 1 8.57 |EA#FTH
28|F%E |K0O E¥ FECE FIHE DNS &l
28| FE FIER 2 HR =L 2 8.90 ({£1ATH
28| FE & N IES W57 3 9.32 |frET
28|F4E i@\ EX PFER FIAH 4 9.66 [{&£{HTH
28|FE (@A 5 BE LIzDAR 5 1451 |{&fa
28|FF |HF RFE Y YeiIa 1 7.10 |FrETH
28|FE  |B/IT BE LYtz vHEE 4 86.90 |{&{am™
28|F B W fzIZIE»dL £ 2 7.68 | B HiET
28|F ¥ RE O =24 6 1401 |#F&EH
28|F A BHALS L&S 1 7.33 | B HiET
28|FE  |[/\R & BEMN A 3 8.54 (Bl fFTH
28|F i\ &=* PER fzhL 5 11.22 |{E{BTH
28|44 RE BX Htzb #OH 1 897 BB HE™




28|tE  [3ZfE EZ f=bldt 250 4 9.86 | 2% S HET
28[4t EH E— Ekfz LALVS 5 10.49 [{&£{A™
28[4L 4 EE = LAY S5%5 6 12.36 |{&£fBT
28[4t 5 TR BR PFHé FEo< 2 9.16 |2& =A™
28[4t FH EE S0 DARES 3 9.29 (AT
28[4t BHE Ot LwEd 505 1 8.77 %
28[4t 4 XE m%E HED =HhAS 4 9.42 |H#fTH
50m 28|44 &8 B bt=lax UANT 3 9.40 |{&{8TH
28|44 EE &iF FYE FEH 2 892 |{&{ATH
28| (IR EBA B5H HENT 3 15.31 |{&fTh
28|14 ME & FZ &Lz DNS {Efamm
28|44 BE m2 BLD HOE 1 7.54 |E3%FT
28|44 A8 FF Mo hFEL 4 891 |BikEHE™
28[4t HH &L hEHR 2 8.13 |
28|41t 4F =H & HPtz VAHHL 3 8.31 [PrEA™
22|02=7 |E¥IL B E5LPFE Ynde 1 23.60 K5
228|027 |RED FEKXE HR 5155 2 18.63 |MATH
28|27 /MR BRZ CIEBL cEnE 1 15.64 |EA¥FTH
28|Ca=7 |=4H IH ATtz ZY 1 17.76 |BIFFH
28|44 N RE BEDO PTZ 1 17.65 | K5
28| i BE 2L BHSH 2 18.11 |EA%FTH
28|04 s 5#F hhax LIH 3 18.66 |EA¥FTH
28|0FE | KE BE LDy B 4 18.84 |EI#FTH
28|44 F% EH=E n=0 FDH 5 2408 [{&{ATH
10|>a=7 (@l EFH ISLPFE HIF 1 31.54 [EE™
10{1% EE LhE 54 1 50.92 |AlIFFTH
10[1 %] R 148 5 W35L 2 76.39 | BIRFTH
11[188 Xul #E BHFEZ B5T 2 61.78 | BIAFH
11158 B8 BA HBLE 5L 1 38.54 | Tk
11[2&8 EALL FTHE APFE HDMED 1 59.21 | Bl AFH
13158 mwi B 5%L% HER 1 26.23 [ K5
14158 G & LEb Fb 1 17.43 |BIFFTH
19(1&8 fIRg EH Hlsd FE5H 1 2503 |HFEH
19(1&8 £ F &5 ELL 2 39.44 |RIFFTH
19[2%p FEAR F— 3h Z5L\b 1 34.32 | B FFH
28| =l Fx HOHH VTH 4 17.39 | B BT
28| FE EiE 1Lz #F 1 15.64 | Bl FF
28|0&E TR B 55LF LEY 3 17.18 | BIFFTH
100m 28|10 [BR (FEH Whah (£5h 2 17.00 | BIFFTH
28|FFE W OE=X f=Th#& #0Y 4 19.07 [#F&EH
28| BE NG B BHD HL 2 17.96 |E®E™
28| FE B BF BTYFED kLI 1 17.64 | &
28| FE ME EATF HELL A DNS FEH
28|F5F |BH kT AED #DC 3 18.87 |EFATH
28|F5E |BEH 2 SEM Fal DNS EaH
28| FE B FaE f=MEIL BAH 2 2117 |F&H
28| FE "R ME LE® 1TH DNS 3=k
28| FFE 2l = 2 NS 1 20.68 |{&{AT
28|F4E Fa #pE LD HpE 3 22.41 |{&{A™
28|41t & hiE F& BMNEY BIEE 1 18.98 |EE™
28[4L 4 Pl KT L %55 3 31.23 |{&{AT™
28[4t 5 TH FHF DLn Fu 2 2244 |BAFATH
28[4L 1R B vHO W DNS t&fam
21|28p B BmX EE BpH 1 30.59 |BIFFTH
22|1%B X & LLdE Fn 1 21.21 |BIRFH
27|28 i mF AHE55 222 1 23.39 |[f&fATH
27|188 e X2 IES HEIE 1 18.68 | K53
1188 KA HR &hf: fd 1 15.34 | A HiET
1|28 EE T f=IE LEMD 1 14.31 |EABRET
4|28p +%H E— SZD EWb35 1 18.09 |#FEET
21| 288 FF BE WT IFAL 2 32.90 | BIAFH
21|28 B FiE DhES ELUA 1 30.50 |AIFFTH




100m

22|18p & B SALL W5F DNS PN
22|1188 FER E— LnES LALSGSS 1 13.11 | B HET
22|1%B JIE il "MHD t=hoy 2 17.18 |BIFFTH
22(2] fRT Bhi& <FELE VAL 1 21.28 |BIfFTH
25(2] F Kt 3YPFE L 1 20.20 ([HEAT
26(1%B %k MR &5 FE 1 17.79 | Ko
27|1%B A FrARER E=05 LA5S DNS EE
27(1%] BE #th ALD W59 2 12,59 | Ko
27|14 BF #iE LY 1+AZ 1 12.39 | Ko
27|1%&B #F/0 BF LcE L3 3 13.07 | K5
27|18 Bk EiE LwEs geHE 4 13.67 | Ko
27|21 R¥ F=R HZTH BWEVH 1 13.79 |#F&EH
27|28 2R BA HEDS HEL 2 16.08 |HiET™
28| RiE BR HAES LwATIT 4 15.64 | K5
28|04 FiE XIE WhEE hhE 1 1451 | K9
28| HiE BT LwES LpSALy 3 15.56 | K5
28| i HRE TS <& 5 16.46 |
28|04 ¥ #MA BHO W51 2 15.33 | K4
28| D4 WNHE BN 561 5391 6 17.65 | K4
28| D& FaER BRI HAR kL 7 16.43 | Ko
28| HE ME AZED LEIAL 4 14.39 | Ko
28|04 g =Z— eSS kLD 5 14.80 | B HiET
28| & B HREK LWhaE (% 6 16.16 |BIFFT
28|05 & MK IS5 Ledt= 2 13.19 | &
28|0E |RA i f=2be W3F 3 13.74 |
28|04 B 2 fiah &LV E 1 12.54 |R{ETH
28|V LH REE V& ITAE 7 15.60 |FAFATH
28| 4E EE 218 EHE 1TAT 1 12.73 |BIFFTH
28| BRl = ATEZ (FLY 2 13.35 | K53
28|0E  |HA FS 0t EF&LL 6 15.02 |E3#FH
28|04 EEmE A L LA 4 13.48 | K4
28| #AR BX TIE Y7 3 13.44 | KT
28| &g FF TES LIy 5 1487 | Ko
28|FF HE RE LD3Z EFLSIAL 4 17.04 |F{ETH
28| FE aH FE ELE LY 6 17.60 |{&187
28|FE  |HHE R A%z kL&HD 1 14.87 |
28| F4E B fa bHi=lEx LA 5 17.06 |{£f8TH
28| FE EH 3 V&= Y& 7 2461 [{£{ATH
28| FE FIER 2 HR =L 3 16.83 |{& {8
28| HE wE 28 HEA® L&D 2 15.24 |IETH
28| FFE EHH Bx &KLIZ &&EH 4 14.79 |{&{BTH
28|FF £5 &R <hLFE 250 2 13.99 |FA¥FTH
28| FE ®EE AR TES5 AHR 5 16.58 | K4
28| BFE =iE A f=hiEL FAL 1 12.55 |MfATH
28|FE  |S1Z BX WVEIZ L&STz 3 14.40 | F1&TH
28|FE  |EE #A TES 5T 7 19.25 |frETH
28| FE B BX PFER FSAH 6 17.38 |{&faTH
28| FE BF # LY D& 4 15.26 | H BT
28|FFE INLE - BRFEL ITALSL 3 15.20 |F4&TH
28|FF M Kt BD f=ItL 6 16.87 (A%
28|FE  |@E B2 KIZOR 7 26.87 [{£1ATH
28|FFE  |B/IT BE LYtz vHEE 5 16.80 |{&{aTH
28|FFE NE ki oD ELDY 2 14.30 |F4&TH
28|FF SIRIEG i ZhIE UTH 1 13.65 |FAfRT
28| FE HhE FER BOMED TAL 5 17.14 |4ETH
28| FE YE HEX BNEY FESH 1 13.45 | B HET
28|FFE KE XN BAEN E0nTIT 4 16.93 |E =™
28| FE IEIS Hh VHLE TOP 3 15.85 | Ko
28| FE E Xt L SHDY 6 2227 |F4ETH
28| B BEEE = V525 F4b 2 15.46 |EA¥FTH
28|41t 4F =% f= f=hd kLA 2 17.12 |iEmH
28[4t £ B &5 ALLA 1 16.05 (A%




28|44 [1T]z2 = PEE HDB 3 2001 |{&{am™
28|E  |EHE XA Lwes 2L 4 27.62 |{&iaTH
28|41t ' ME TH HTUVA DNS tEfam
28|44 A HE AL LIFOS 6 23.58 |{&{ATH
28[4t B bR hFUs 3 16.52 T
28[4t BE "z BLD howE 1 14.98 |EA¥FTH
28[4L 4 HH KLEE hFP 2 15.29 |BfATH
100m 28|44 =H BE Ht= VAHL 4 16.77 |¥THET
28|45 7Tk EX HELGM BESH 5 2227 |FkH
28|41 & A fafT PECE OYDE 2 15.01 |{&faTh
28|41t |52 /N BYED F£FI& 1 14.20 (AT
28[4t 5 &8 B bt=lax UANT 4 17.91 [{&{ATH
28|41 & BR =% Albs MLl 5 18.17 |EE™H
28|E |EE EiF FYE FEH 3 17.73 |{&fah
28|44 HE B= SBHIE hoOH DNS HES
28|44 B FF Mod hFEL 2 3522 (B EHET
28|44 |52/ TYFED FI& 1 31.30 |BfATH
28|F £8 &7 <hLFE 250 3 28.84 |EA#FTH
28| FE =iE A f=miEL (FAL 1 25.46 |BfATH
28| HFE BE B s BESE DNS =i
28| FF 512 #BXK WEIT L&ST 4 30.93 |FE™
28| FE INLE - BRFEL ITALSL 5 3389 |k
28| FE HiE X ENEY FESH 2 28.12 (A HHET
28| BFE BEE = V525 F4b 6 34.08 [FA#FTH
28| FaER R HA f=h&L 5 36.95 [ Ko
28|04 FER WS Mg 3 30.33 |
28| D4 B $REk WhaE K 4 34.87 |BIRFTH
28| INE - thRES BZ p53FIF DNS R FF
200m 28|44 A 2 b E&VE 1 2581 |FkH
28| EE g5 EHE 1A 2 25.88 | Bl fFH
28|FE  |BE EATF HELL A DNS FEH
28|FFE Fil % 3YPFE Yz 1 63.12 |B@A™
28|44 Sk AR LVERAY KK 1 60.17 | T
28[4t FH FHF NLn FHT DNS ==Kl
11158 B8 BA HLE 5L 1 4355 |FkEH
13[1&8 Hi A 5%L5 HER 1 48.63 | K4
14158 B & LEL FEb 1 30.92 |BIfFTH
19(1&8 £ & &5 FLL 1 86.83 | RIAFH
26|2%R WTF FX FOLz UTH 1 46.19 | Bl FF
27|1%B BRI #iE Ly HAZ 1 26.23 | Ky
27| 288 2R BA HOIED HEL 2 34.29 |thigmh
27|2%&B Ry =% HZTH BHEVH 1 29.24 |¥FEETH
22|1%B X B SALE W5F DNS bl
28| F4E ER EE Whte T H DNS S
28|FE Fl A% 3YPFE Yz 2 139.92 [HEAT
28| FE BE k¥ ASED #HDC 1 67.32 |H#TH
28|04 S BE VOO FAZ 5 82.71 |RIAFH
28|V fEER —#% BN ITE 1 58.21 |Fi&TH
28|04 WF ER PELE AUV 2 67.32 |BIfFTH
28|04 BHEl = SIEZ (TN 3 69.53 | Ky
28|04 BE JHth HD FIH 4 79.88 | K&
28| FE R R L=y LIFS 3 73.30 [EA#FTH
400m 28| FFE =R & f=hs BT 1 59.89 (HAATH
28|FF A #FH= PFELE LAL 6 8367 |fTEA™
28|FFE  [R Fib 5 PTUA 4 75.17 |
28| FE BF # LY D& 5 77.87 | B tHET
28|F4E N Kt HD f=ifL 7 84.41 |BFTH
28|FF PE EE BOMED AL 8 86.89 |k
28| FE SR ) BHELE LL> 2 65.89 A AT
28|FFE RE HEN AE ST 9 105.47 |F4&H
28[4L =@ OE— #3535 L&iVE 6 123.10 |{&{a™
28|44 KA # Ttz £HB 5 100.00 [{£1ATH




28|41t 4F BL EA hf-GR F&& 2 82.32 |thiEm™
28[4t BHE Ot LwEs 505 1 77.86 |H#TH
400m 28|44 FH B S50 OAED 3 82.75 |Bfamh
28|44 WH EfE FoFF LIFUA DNS Ko
28|41t 4F BE == Albs hF&L 4 91.89 |EXR™
28|45 wn A PESCE ITAL 2 174.62 |FE™
28[4L 4 wa a7 PECE OYE 1 155.79 [{£{ATH
28|44 WH EiE FoFF LIFUA DNS Ry
28|41t 4F X H*E HED FhSE 4 184.65 |FRATH
28[4t INE K BIE- vAE 3 183.00 |frEAT
28| | K# Eth BHLL BHe 5 198.63 |EH® ™
28|V fEER —#% BEhR HTE 1 142.19 | &
28| 155 =ih FLD& 1=h1 5 7 186.32 |F4&TH
28| W ER PELE HDA 4 165.07 | BIFFT
28|04 MHE BE TERL KLUVC 3 143.18 |£4ET
28| 4 nm =% M55 B&IA 6 174.66 | F{&H
28|44 B RA i LIFO& 2 142.93 |F4&H
28|04 NI E o 723¢ 8 32757 | Ko
28| D4 BE JHth HD FIP 5 172.78 | K43
28| F4E 88 5 5% PFL 4 193.51 | BIAFH
800m 28|FF  |WmE WA PLREEZ P3C 5 201.13 |BIFFT
28|FF R ER3h 5 PTUA 3 176.92 |F#TH
28| FE PH RE¥ BHD L1HE 1 151.55 |frAH
28| FE RiE &= BHEH 50 2 160.05 |E3#a T
24|18 (&0 IZL LAY 1 25454 | KT
25|18 Rk &FR FTREA hFHD 1 196.19 | K5
25(2%B F Rt LYPFE =L DNS BHET™
28|V =8 EF HR phH 4 213.69 |kt
28| TR BE [F75E UAH 5 22550 |t
28|04 I BA ZES EOF 6 256.77 |k
28|0E  |tkE RO L3 hFH 3 212.98 |k
28| 4 S BE WELH DA 2 204.68 |BIFFT
28| 4 =7H 87 FlFt= 5T 1 188.59 | Bl fF I
25|15 INLE PR BOFEE SUH 1 200.62 | Ko
13[158 & VAHL Lk DNS Kot
19[18 FIm IES HiaH FESH 1 177.76 |#FEEH
19(188 HWHE A FO12 TR 1 189.04 | B HHT
13158 EE VA#HE LA DNS PNl
28| D& RE T HR wH 2 487.01 |4ET
28| R MTH <EMLY hTH 4 563.29 |[B AT
28| TR BE F75E VAH 3 500.97 |FHcth
28|04 I A ZES &OF 5 581.63 |k
28|0E  |tEE FOE L3 T H 1 479.39 | £
28| FE INE FER IDEF bhHE 1 420.88 |FiETH
22|183 EK ORE L#T ZLLA 1 439.99 |{&{ATH
28| &iE m=5h [ELD& =D 1A 4 355.38 [FiETH
28|10 (RO BB F5<h HES DNS B tHEr
28|44 g #E PED LAl DNS FE
28| I E ZIEPL hdBB 1 301.62 |BIFFI
1500m 28|04 HH BE FE KLU 2 315.23 |k
28|04 NN =% MH5E B&EIH 5 388.44 |Fikth
28| HAf KA f=ih LIF & 3 329.96 |Fi&h
28| NI E o 29< 6 613.61 | Ko
24|183 R A Alhd DY 1 517.96 |2 EET
28| FE NE HR 5612 kLbHE 5 351.31 iZAR™M
28| F4E BHE &A BEE kL& 3 332.45 |BIFF
28| FE HH B &L &EH 1 307.85 |{&{ETh
28|FF B W fIZIE»L £ 6 353.61 | A HIET
28| FE FH RE BHD L1HE 2 319.84 |frETH
28| FE RiE &= BHEH 50 4 33391 |t
28|FE RE N e 1 bravs 8 533.86 | F &
28|FF EEF = <LL Ygs 7 369.78 |2 KEFHH
28[4L 4 o A PECE (TAL 1 296.77 |FkH




28|0&E |FHEIE EB 5%L%F LiY B RFH
28|0E  [BR (FEH LWhEh [E5h 64.67 B RFH
28| 4 =478 #BF Atz B5C Bl T
28| 4 Fic] === IZLE A& Bl FF T
28|FE  |BIE FTHE f=MEL BAH FEth
28| BE INE TFBH IDEF bhE 8894 FET
28|FHFE |WE 2& HEH® E&Tb FEh
28|1tE |k EX LELGD BESH FEh
28|0&E  |BE Fth WeS Mg =K
28|0E  |RA i f=ode W3EF 56.78 =i
28| 4 CH RiE V& FAE 2K
28|FF  |BFE R WS 303 22Kl
28|10 R hE HAR ph FiEth
28|44 Hf 2 f=ih kD& 57,56 FEh
28|0F (A BE TERL KLUVC FEH
28| 4 nm &% MhH35 B&SH FEh
28|F4E FIER 12 HAR =L &am
28| FE Fa #hE L2 HPE 2096 {Efam
28|FE |EE = &K WS {Efamm
28|FFE |HM BE LYzlT vApE &fam
22(1EB PR E—H WE3 LALSGESS B HET
S L— 28| D& =) Fx HPMh VTH 55.03 B 7
28|10 (RO BB F5<h HES B tHEr
28|HE  |PE KX BAMEY FESH B T
28|0E (B MF ZED LEIALY PN
28|0E | EMF A PLL LOXR 60,64 RyHh
28|FE  |&RE BRIR TES AHP bl
28|FE |HEIB Eth VOHLE T2 bl
28|27 |k BRZ ZIEBL LHpE =EEs
8|0 |HA FS 0Dt EF&LL 6150 =EEd
28|F £5 & <hLFE 50 EIfF
28| H4E BEEE = vA2% Fb5 EIfF
28| |tk Ak &5 T H Feth
28| & fEE —i8 BEHR hTE 5007 Ea)
28|0FE |tk MK &S5 LLSt FEH
28| 4 A EA f=ih LIF& Fr
28| 4 =1 LhaE (% Bl FF T
28| T BR PFEL FHUVA 55.46 Bl FFTH
28|0F |V OE ZIEPL »ED B RFH
28| EE 215 EHE 1TAZ RIFFH
28|FE  |BiE A f=mEL 1FAL =K
28|FF |BE B =A< B3 53.23 2K
28| FE BRI i ThEE UTH 2K
28|44 R B TYED FIL& 2k
23|1&B FHE #&E 0Dt Heh 2 90.00 |BlAFTH
23|188 g &F PFESE A tc Bl T
23|18p Wil iy FOPFE pHY 1 75.40 |RIFFTH
23|1%B BRIE £=F FHOD HPE 4 172.30 [A AT
23|1&B R FEET FFed BHC DNS B RFH
23|18p ®E BETF SO DH 3 98.60 | Bl fF
10[1%8 =®E FH PFEH VTHT 3 102.82 |BIFF T
10[1&B EH LWhE B350 1 69.73 |BlIfFTH
10[1%&8 R #= F5 B30 2 75.67 |BIfFTH
ASA—L 23(2EB HE XF LD5% AL 4 99.04 (K4
23| 2B K HER L#T wHZ 2 85.93 | BIRFH
23| 283 wmE INEE IZWLLIE 2wy 3 98.18 | B tHHET
23| 2R =@ BF HOtz HEZ 1 80.61 | H tHAET
10(158 2iE TV FHOH ZY 1 71.93 |AlIFFTH
16[1%&8 # R DARLH T 1 64.86 | K5
23|1%B ®E B &S LEBE 2 9443 | Ky
23| 1%B == Kig AT FEUAH 1 85.17 |[{&{Am
23|188 xR g PEHE LLYP 5 27153 |{E{aTH
23|18p FE Bg— 3z ITALS 4 137.60 |{&{ATH




23|188 BER ER fzIzdE f=hL 3 12331 |BEAT
23(1%B R EZ EMES K50 DNS FEH
23|18 2B BT (BZREE L3~ 1 66.45 K5
23|18 Bk BX Lwé&s 1FAT= 3 124.68 | BIRFH
23|18 HE TR [FPLE IFAE 2 87.89 | BIAFH
23|28 FIER % HR VAL 2 93.26 |H AT
23(2%] fEiE &Al BNEE fHhDY 1 65.47 | K5
23| 2% AR BER "hO Y3l 3 107.52 | BIFH
23(2% Bm & FLo8 FEB 1 83.70 | B HHHET
23( 2] NG HE5H BD TOH 5 159.82 |H#
23(2%] ¥ARE BASE FoHEN VAPE 2 88.35 |AllfFTH
23(2] oH F Izof= V&L 4 114.28 | B tHHET
250—1 23|28 & s Y LAES DNS B RFH
23( 2] BTA RER FRIZ =255 3 89.99 |BIfFTH
23|24 Ax HE =65 MU 3 75.99 | B RFH
23(2%] %R FiE AlEbh &LUA 5 88.68 | A L HT
23(2%] W Bk IH0F ALH 1 78.60 |B3 %A
23| 2% —E &= IZD#HX KLLMD 4 87.49 (A HHHET
23|24 BE EE AL LiF# 2 84.09 |AIRFH
23(2%] EE HB5H KIZUA T3H T4 3=k
23|28 A EE ALz £S5 T4 B RFH
23(2%] & BT T hE 6 89.54 | BIAFTH
10|2% il faT ThPE LALS 1 60.35 |AlIfFTH
10[2%] Rk Bt TGN LIFE DNS bl
16|2% R 2= BYIELL 2505 1 43.56 | BT
16[2%] ¥ HF— BEETE FALS 2 129.83 |F#TH
1|28 8B 19F NHDBH W& 1 0.89 | &
7|28 BiE kHE HRETE TDH 1 0.83 |FET
25|2E8 tEH= EF Le &3 1 1.42 | B HHET
27|1%8 1l =2 LS5 AL 1 1.32 | K&
28|F @I #E Lahh 1 147 | K&
28|44 —8 HT WbH W52 DNS 3=k
2|28 BR #X THIED VBAH 1 2.06 (EAEKET
5|280 He fREA b #bhHE DNS KT
22|18 JIEr Mg Mo f=HhoY 1 1.67 |BIAFTH
24|283 HE B2 f=IE5 o 1 1.25 |{&{am
24|23 B BRE -t HEH 2 121 AR
3L WE Bk 28| & 1= E5 LA 1 200 |l#TH
28|F HE BA LD5% AL 4 1.00 [{E1ATH
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16[2&8 NG Bk BO F&h 2 12.09 |iETH
i 23| 288 FIER % HR VAL DNS B HET
23|28 FRE R ALf F£E05 2 417 |BIFFTH
23| 2B B BT EfIT fhpE 1 5.00 | BIFF T
10[188 2iE 1Y FHOH ZY 1 5.21 | BIFFTH
23|1%B R FEET FTed M DNS B RFH
23|18p ®E BETF SO BDHS 1 3.76 | BIFFT
23| 283 =H BAF HRt- HEZ DNS B HET
23|18p 2R BF (BZE Lp3IALY 1 8.78 | Ko
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16(1%p HH X &LEZ & 2 317 [EE™
16(2&8 WE XF Wi AHT 1 1.70 |HiEH
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